
SAITEK X-52/PRO
THROTTLE

SAITEK X52/PRO
JOYSTICK

SAITEK X-55 THROTTLE SAITEK X-55 JOYSTICK

HOTAS WARTHOG
THROTTLE

HOTAS WARTHOG
JOYSTICK

T
h
ru

st
m

a
st

e
r 

H
O

T
A

S
 W

A
R

T
H

O
G

m
o
u
n
tin

g
 h

o
le

s
S

A
IT

E
K

 X
5
2
/P

R
O

m
o
u
n
tin

g
 h

o
le

s
S

A
IT

E
K

 X
-5

5
m

o
u
n
tin

g
 h

o
le

s

 
Place your throttle and joystick on the main plate  and drive 8 Allen screws (M5x16) with 8 (M5) cups to firmly.

 
fix it 

 
Place your SAITEK X52/PRO throttle and joystick on the main plate  and drive 4 conical screws (M4x55) with 4 washers(4) and 4 (M4) cups to firmly.

 
fix it 

 
 Place your SAITEK X-55 throttle and joystick on the main plate  and drive 4 conical screws (M4x55) with 4 washers(4) and (M4) cups to firmly.

 
fix it 

 
www.wheelstandpro.us

 

Please visit our YouTube chanel for all the  at: http://www.youtube.com/user/wheelstandpro set up videos

Saitek X-52/PRO
set up video

Thr. HOTAS WARTHOG
set up video

Saitek X-55
set up video

wheel stand pro


	Strona 1

